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English Graph Functional
Notation
At time t = 4, the tem- | At t = 4, the | P(4) = 400
perature is 400° height of graph
is 400.
P(b) — P(a)
The incremental rate of
change in temperature
from time a to time b
the y-intercept
of the tempera-
ture graph
P(b) — P(0)
b—0

P(10) < P(9)

Between 4 and 6 min-

utes, the temperature
rises by 140°

The slope of the
secant from t =
0Otot=41s 57.




English

Graph

Functional Notation

When is the tempera-
ture 350°7

10

P(t) — P(2) > 100

11

Find two times, 2
minutes apart, when
the temperature is the
same.

12

How many minutes af-
ter t = 4 does the tem-
perature become 250°7

13

P(3+r)— P(3) =100

14

the average rate of
change of temperature
for h minutes begin-

ning at t = 3

15

For which t is
graph twice as
high as it is
when ¢t = 107

16

PB)-P2) _ PE@) - P2)

5—2
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Section 8.1-8.2 - Average Cost-Breakeven Price, Average Variable Cost-Shutdown Price

hundreds of dollars

20

18

16

14

12

10

N

rc

>
»
-
- .=
-

i
4°°
o

»

15

2 25

3

35

4 4

S

5

55 6

quantity (in hundreds of hats)

6.5

7

7.5

Y




hundreds of dollars

20

18

16

14

12

10

Breakeven Price and Shutdown Price

N

rc

»
»
*

»

sl

ﬂ'-'-

i
o

»

X4

1.5

2

25

3 35 4 45 5 55

quantity (in hundreds of hats)

6

6.5

7

7.5

Y




dollars

Section 9

2,750
2500 /
2250 /
TC /
2000 //
4 ,"
1750 //
/
1500 / .
1250 /,/
/ Sve
1000 v
"1 o
750 /'/
500F——— 11— — L
250 1

50 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900

quantity (in paperweights)



dollars

Section 9

2,750
2500 /
2250 /
TC /
2000 //
4 ,"
1750 //
/
1500 / .
1250 /,/
/ Sve
1000 v
"1 o
750 /'/
500F——— 11— — L
250 1

50 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900

quantity (in paperweights)



Section 9

e

l»
.

/

" Avo

200 300 400 500 600 700 800 900 1000

100

T\
1
1
0
1]
T
1
I
I
1
H
1
J
1
I
Il
7
’
4
’
V.|
7
4
4
4
4
4
Vi
’
\\
4
‘\§ -
\\ 4 /
4= $
- g
- B
ST I N N
<< -y N 4
........... \
A
en N v— i =)} ® o~ o w en [\] v
— v— — —

Jysromtaded Jad sxefjop

quantity (paperweights)



Section 9

e

l»
.

/

" Avo

200 300 400 500 600 700 800 900 1000

100

T\
1
1
0
1]
T
1
I
I
1
H
1
J
1
I
Il
7
’
4
’
V.|
7
4
4
4
4
4
Vi
’
\\
4
‘\§ -
\\ 4 /
4= $
- g
- B
ST I N N
<< -y N 4
........... \
A
en N v— i =)} ® o~ o w en [\] v
— v— — —

Jysromtaded Jad sxefjop

quantity (paperweights)

10



